=2 b=S ¢ =-12

x_-— “nte I’up‘i"S CL_) O')

My

De

- G+ [25 +44

Degree = >
Peros s X=0 X=-

R
tﬁpliu'tj'. one ,two

.l.f

\d Behavior: ¥
%; XY %=t Y co

Find th¢ zeros ;lbchrfucallﬁ Y

'J.
a) fix)=2x*+5x-12 ;l

O~ Ayt ASx-t L
O= (Zx- N+
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State the degree and list the zeros of the polynomial function. State the

multiplicity of each zero and whether the graph crosses the x-axis at the
corresponding x-intercept. Graph the function on your calculator to

verify your answer. Came XE f““ pl.,u."']
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d) fix)=3x(x-2)(x- 1)
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